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Note : Answer all the questions as per the

directions given in each Section.

Section—A

Note : Answer any two questions from this Section.

2×20 = 40

1. Distinguish between the terms ‘labour force’

and ‘work force’. Why is work force in an
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economy, normally, less than labour

force ? Make suggestion to create new

employment opportunities.

2. How is ‘balance of trade’ different from ‘balance

of payments’ ? Outline a brief strategy to

promote India’s exports.

3. Manufacturing sector has been slow to

develop in recent decades. Account the reasons

for this. Also make suggestions in this

regard to promote the industrial growth in

India.

4. “Medium and small industries form the

backbone of the Indian economy.” Elaborate on

this statement. Make suggestion to promote

this sector of the economy.
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Section—B

Note : Answer any four questions from this

Section. 4×12=48

5. What do you mean by ‘demographic dividend’ ?

What should be our strategy to reap this

dividend ?

6. ‘Non-farm activities hold key to farmer’s

success.’ Suggest what should be done to

promote these activities.

7. Bring out the interrelationship between

‘poverty’ and ‘inequalities’ in income

distribution In view of this, what should be our

strategy to remove poverty ?

8. Discuss in brief the main features of Indian Tax

System.
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9. What is ‘Black Money’ ? Why should its growth

be curbed ?

10. Indian Financial System suffered from many

evils. Make suggestions to overcome them.

Section—C

11. Write notes on any two of the following : 2×6=12

(i) Land reforms

(ii) Make in India

(iii) Progressive taxation

(iv) Balanced regional growth
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